

Tuesday 8:30 pm

Little River Lanes Team Standings

Lanes 1 - 26

Place	Lane	#	Team Name	Points Won	Points Lost	Pins + HDCP	Scratch Pins	High Game	High Sers	HDCP Game	HDCP Sers	Year-To-Date WON
1	3	15	POP'S KIDS	158	94	66027	56229	912	2558	1050	2915	273½
2	4	7	MVP	157	95	66070	61723	981	2788	1044	2977	312
3	10	12	3 DIX AND A CHIC	151½	100½	66642	63918	1031	2891	1071	3029	270
4	9	10	SHEALYS SCUMBAGS	146½	105½	65285	60374	957	2686	1025	2890	271½
5	16	11	ENERGY PRODUCTS	143	109	65129	52433	821	2347	1000	2890	280
6	8	19	TEN IN THE PIT	142	110	65498	59393	987	2769	1079	3030	279
7	5	16	SPARES AND STRIKES PR	141½	110½	65371	61234	1005	2862	1057	3019	270½
8	6	6	JORDAN AND THE OLDIE	139½	112½	66379	61138	987	2772	1047	2982	278½
9	22	20	Y ALL KEEP BITCHIN	138	114	65754	59457	982	2714	1068	2978	264½
10	14	4	PIN HEADS	133½	118½	64287	46293	753	2125	1003	2881	241½
11	13	18	CALLI BAKERS	131½	120½	65132	54716	876	2480	1013	2861	248
12	19	22	MULLIGANS BAR AND GR	130½	121½	65284	55762	947	2569	1088	2992	258
13	17	5	BALLS OF FURY	130	122	64865	54047	899	2411	1050	2864	248½
14	11	25	MISFITS	129½	122½	64175	53159	862	2478	1017	2943	247
15	25	13	CITY CAB	122	130	65855	59327	946	2683	1042	3006	247
16	7	3	DUNN METAL WORKS 2.0	120½	131½	64853	54044	855	2499	1010	2982	230
17	23	1	PERRY INSURANCE	114½	137½	65332	58366	921	2623	1021	2920	246½
18	2	8	STIFF STROKERS	112	140	64684	59719	966	2695	1019	2962	217½
19	12	23	NUTTER GUTTERS	111½	140½	65275	48361	770	2168	1016	2849	257
20	21	2	GUYS NIGHT OUT	111	141	65171	55958	896	2476	1033	2916	236
21	15	21	I D TAP THAT	110½	141½	65422	59458	962	2701	1032	2908	260
22	18	17	CERTIFIED AUTOMOTIVE	105	147	65250	54564	900	2635	1018	2887	245½
23	24	26	GUTTER DUSTERS	104½	147½	64251	52458	850	2333	1020	2834	225
24	1	14	3 LADIES & A STUD	103	149	64502	50945	881	2401	1060	2938	220
25	20	24	LIVIN ON A SPARE	98½	153½	64684	46762	824	2168	1019	2915	199
26	26	9	PRESS YOUR LUCK	91	161	65093	54338	888	2584	1052	3076	226

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	CITY CAB	921	966	919	2806	13	I D TAP THAT	881	918	984	2783	8
3-4	GUYS NIGHT OUT	925	901	952	2778	8½	NUTTER GUTTERS	983	933	893	2809	12½
5-6	STIFF STROKERS	1019	977	966	2962	13½	3 LADIES & A STUD	883	966	961	2810	7½
7-8	GUTTER DUSTERS	887	833	865	2585	9	CERTIFIED AUTOMO	927	863	900	2690	12
9-10	PRESS YOUR LUCK	943	868	889	2700	4	LIVIN ON A SPARE	960	1019	936	2915	17
11-12	POP'S KIDS	926	969	941	2836	13	3 DIX AND A CHIC	866	908	931	2705	8
13-14	SHEALYS SCUMBAG	827	883	915	2625	4	MVP	894	981	958	2833	17
15-16	JORDAN AND THE	922	934	904	2760	6	TEN IN THE PIT	940	964	956	2860	15
17-18	ENERGY PRODUCTS	886	958	979	2823	16	CALLI BAKERS	872	1009	751	2632	5
19-20	MULLIGANS BAR AN	830	890	788	2508	5	SPARES AND STRIK	863	881	965	2709	16
21-22	BALLS OF FURY	842	896	894	2632	8	PIN HEADS	864	822	981	2667	13
23-24	Y ALL KEEP BITCHI	898	984	1057	2939	19	DUNN METAL WOR	893	914	907	2714	2
25-26	MISFITS	957	898	997	2852	16	PERRY INSURANCE	897	870	942	2709	5

Last Week's Top Scores

Team Scratch Game

982	Y ALL KEEP BITCHIN
930	STIFF STROKERS
924	MVP

Team Scratch Series

2714	Y ALL KEEP BITCHIN
2695	STIFF STROKERS
2662	MVP

Scratch Game

279	Matt Mahon
279	Fabian MelendezJR
279	Zach Bailey

Scratch Series

762	Derek Frink
751	Brandon Gaumond
739	Matt Mahon

Men

Women

246	Traci Rosenthal
234	Amber Kishbaugh
226	Heather Frink

655	Traci Rosenthal
635	Amber Kishbaugh
616	Dawn Clardy

Team Rosters

ID #	Name	Pins	Gms	Avg	HDCP	Points Won	Points Lost	High Game	High Sers	E-Av	True Pin Avg	Pin Drop
1 - PERRY INSURANCE												
95	Rich Diloreto	14535	72	201	26	44.0	52.0	248	682	200	201	
70	Mike Senatore	11032	57	193	33	33.0	43.0	266	699	195	193	
71	Jack Vilaca	15057	72	209	18	53.5	42.5	259	710	209	209	
140	John Delany	14803	72	205	22	46.0	50.0	278	718		205	
75	Scott Zacher	2439	12	203	24	13.0	3.0	233	646	205	203	
156	Bob Hileman	500	3	bk201	26		4.0	202	500	201	166	
2 - GUYS NIGHT OUT												
104	Paul Willard	13654	69	197	29	48.0	44.0	299	671	193	197	
105	Andy Bennett	11366	57	199	27	33.5	46.5	277	728	194	199	
107	Bryan Thomas	11689	63	185	40	39.5	48.5	300	682	179	185	
106	Rick Brunette	12269	60	204	23	46.0	38.0	257	698	199	204	
202	Ed Rogers	3285	18	182	43	10.5	13.5	212	600	190	182	
109	Todd Ferber	2039	12	169	54	7.0	9.0	200	530	170	169	

	ID #	Name	Pins	Gms	Avg	HDCP	Points Won	Points Lost	High Game	High Sers	E-Av	True Pin Avg	Pin Drop
3- DUNN METAL WORKS 2.0													
	82	James Granger	13659	72	189	36	46.0	50.0	259	659	189	189	
	121	Trina Dunn	12420	69	180	45	37.0	55.0	234	651	181	180	
	11	Damian Casholle	12638	66	191	35	40.5	47.5	247	692	190	191	
	122	Eric Dunn	12560	66	190	36	46.5	41.5	257	666	186	190	
	34	Gary Ziolkowski	2173	12	190	36	3.0	13.0	215	604	200	181	✓
	275	Andrew Burns	0	0	bk186	39			0	0	—		
4- PIN HEADS													
	93	John Charity	10474	69	151	71	40.0	52.0	198	505	156	151	
	245	Anthony Desantis	10174	66	154	68	45.5	50.5	215	553	—	154	
	246	Mike Houston	9936	63	157	65	47.0	37.0	219	563	—	157	
	272	Alan Parker	5956	33	180	45	20.0	24.0	253	626	—	180	
	264	Peter Krebs	0	0	bk182	43			0	0	—		
	269	George Herman	3473	21	165	58	10.0	18.0	202	583	—	165	
5- BALLS OF FURY													
	155	David Lineberger	11480	66	173	51	40.5	47.5	226	608	168	173	
	131	Dan Schwartz	12781	66	193	33	45.5	42.5	278	722	187	193	
	252	Kariton Washington	12760	69	184	41	48.5	47.5	279	637	—	184	
	55	Tyler Theel	11836	60	197	29	40.0	40.0	300	654	197	197	
	127	Scott Whaley	2256	12	188	37	10.0	6.0	229	590	176	188	
	12	Peter Heuschneider	2400	12	200	27	9.0	7.0	256	616	201	200	
6- JORDAN AND THE OLDIES													
	166	Paul Weber	13527	69	196	30	49.5	42.5	279	673	198	196	
	185	Jim Lavecchia	14027	69	203	24	48.0	48.0	300	744	205	203	
	7	Matt Mahon	10245	45	227	2	35.5	24.5	279	763	216	227	
	145	Jordan Shepherd	15834	69	229	0	56.5	39.5	290	792	224	229	
	148	Mike Garrison	5660	27	209	18	19.0	21.0	256	663	195	209	
7- MVP													
	98	Carter Reid	15676	72	217	11	69.5	26.5	278	754	210	217	
	99	Joel Warren	15041	72	208	19	57.0	39.0	279	760	212	208	
	3	Shane Alisbrook	15110	72	209	18	45.5	50.5	266	695	216	209	
	101	Mark Vymislicky	15214	69	220	9	53.0	39.0	279	750	218	220	
	163	Caroline Vymislicky	0	0	bk142	79			0	0	142		
	179	Augie Schuyler	682	3	bk212	16	3.0	1.0	278	682	212	227	
8- STIFF STROKERS													
	22	Keith Jones	15772	72	219	9	43.0	53.0	297	764	219	219	
	180	Jason Rosenthal	14522	72	201	26	45.5	50.5	257	713	205	201	
	212	Jim Brehm	12417	60	208	19	33.0	47.0	278	738	210	206	✓
	181	Terry Wiley	12825	62	211	17	33.5	50.5	268	706	221	206	✓
	108	Traci Rosenthal	3984	21	190	36	15.0	13.0	246	655	173	189	✓
	112	Hal Peni	0	0	bk208	19			0	0	208		
9- PRESS YOUR LUCK													
	37	Paul Hoffman	14159	72	196	30	41.5	54.5	276	718	190	196	
	36	Kyle Kogler	10071	65	154	68	40.0	52.0	203	532	154	154	
	39	Jared Kogler	13098	69	189	36	41.0	51.0	257	642	180	189	
	62	Devin Null	6027	27	223	6	33.0	31.0	278	761	—	223	
	265	Derrick Young	567	3	bk184	41	1.0	3.0	201	567	—	189	
	266	Dwayne Phillips	5175	26	199	27	18.0	18.0	247	662	—	199	
10- SHEALYS SCUMBAGS													
	6	Gary Diley	15434	72	214	14	40.0	56.0	268	748	214	214	
	31	Ken Shealy	13820	69	200	27	46.0	50.0	268	726	206	200	
	5	Tony Todd	14308	69	207	20	63.0	33.0	248	685	203	207	
	32	Andrew Diley	13245	60	220	9	42.0	38.0	278	749	227	220	
	81	Chris Allen	1220	6	bk211	17	3.0	5.0	213	623	211	203	
	268	Bice Ward	1204	6	bk193	33	8.0		230	644	193	200	
11- ENERGY PRODUCTS													
	168	Frank McCarthy	13060	69	189	36	55.0	37.0	255	660	181	189	
	149	Frank Gingrich	10972	66	166	57	48.0	40.0	212	559	161	166	
	223	Michael Hall	13146	72	182	43	56.0	40.0	247	657	—	182	
	169	Andrew McCarthy	13063	69	189	36	50.0	42.0	257	670	185	189	
	260	Jason Ussher	1721	9	203	24	1.0	11.0	220	615	—	191	✓
	203	Connie Gingrich	471	3	bk150	72	3.0	1.0	169	471	150	157	
12- 3 DIX AND A CHIC													
	56	Chris Kishbaugh	15539	69	225	4	59.0	33.0	279	762	225	225	
	53	Amber Kishbaugh	13453	63	213	15	38.0	46.0	284	768	216	213	
	10	Rick Casholle	14133	66	214	14	42.0	46.0	279	750	219	214	
	73	Jeremy Schaffer	16596	72	230	0	50.5	45.5	300	822	211	230	
	215	Cody Smith	4197	18	233	0	14.0	10.0	279	802	219	233	
13- CITY CAB													
	217	Terry Rose	12508	60	208	19	40.0	40.0	279	748	199	208	
	144	Corbin Esterak	13253	69	192	34	37.0	55.0	267	665	188	192	
	154	Ken Freeman	15304	72	212	16	49.0	47.0	277	740	208	212	
	153	Tony Mayo	14029	66	212	16	46.0	42.0	266	770	205	212	
	273	Austin Inman	632	3	210	18		4.0	237	632	—	210	
	263	Bennett SevernBrown	3097	15	206	21	12.0	8.0	276	635	—	206	
14- 3 LADIES & A STUD													
	76	Shiyanne Granger	10514	66	159	63	47.0	45.0	215	561	160	159	
	161	Dawn Clardy	6573	36	182	43	20.5	35.5	225	617	165	182	
	226	Jessica Casholle	8823	60	147	74	44.0	52.0	206	500	—	147	
	225	Dylan Kishbaugh	14930	72	207	20	40.0	56.0	290	760	186	207	
	162	Michaela Clardy	6400	30	213	15	20.5	19.5	279	735	—	213	
	274	Louis Carrai	0	0	bk218	10			0	0	—		

ID #	Name	Pins	Gms	Avg	HDCP	Points Won	Points Lost	High Game	High Sers	E-Av	True Pin Avg	Pin Drop
15 - POP'S KIDS												
64	Pat Moyer	8236	51	161	62	35.5	36.5	207	550	163	161	
69	Scott Bellinger	13553	66	205	22	59.0	29.0	279	775	200	205	
65	Phil Moyer	15617	72	216	12	46.5	49.5	279	725	206	216	
67	Jim Foster	11319	54	209	18	40.0	32.0	279	700	207	209	
159	William Gause	4855	30	161	62	15.5	24.5	240	567	168	161	
270	Megan Reed	2199	12	183	42	8.0	8.0	246	569	—	183	
16 - SPARES AND STRIKES PRO SHOP												
13	Goose Goosney	13965	66	211	17	45.0	47.0	278	802	215	211	
15	Jessie Wilson	13639	63	216	12	56.5	35.5	279	750	215	216	
219	Leonard Freeman	14630	69	212	16	54.5	41.5	277	747	—	212	
14	Mike Albert	13219	63	209	18	41.5	42.5	289	719	215	209	
183	Chris Campanelli	601	3	bk232	0		4.0	215	601	—	200	
255	Herbert High	2772	12	231	0	10.0	6.0	279	763	—	231	
17 - CERTIFIED AUTOMOTIVE												
87	Mary Dean	7436	54	137	83	31.0	45.0	196	475	136	137	
229	Alston Babson	13445	66	203	24	45.0	43.0	280	706	—	203	
35	Dru Ford	10733	55	195	31	40.0	40.0	246	679	179	195	
83	James Dean	13267	63	210	18	37.0	47.0	269	696	209	210	
256	Scott Smith	4951	27	183	42	21.0	15.0	223	620	—	183	
84	Nate Roberts	3435	15	229	0	15.0	5.0	279	736	223	229	
18 - CALLI BAKERS												
58	Chirs McKenzie	6734	39	172	52	22.5	37.5	225	618	176	172	
184	Chris Carter	10163	54	188	37	55.0	29.0	237	641	169	188	
63	Kevin Williams	9595	45	213	15	30.0	34.0	268	719	210	213	
61	Chris Gordon	11064	57	194	32	39.0	41.0	255	661	199	194	
201	Trevor Muffley	9856	51	193	33	30.0	38.0	265	667	167	193	
200	Ryan Thompson	3566	21	169	54	10.0	18.0	221	571	160	169	
19 - TEN IN THE PIT												
172	Michael White	12673	60	211	17	48.0	32.0	290	735	206	211	
171	Heather Frink	12817	72	178	46	42.0	54.0	255	633	179	178	
173	Zach Bailey	15651	72	217	11	53.0	43.0	279	785	225	217	
91	Derek Frink	16132	72	224	5	62.0	34.0	278	762	225	224	
147	Ron Scott	1062	6	bk203	24	3.0	5.0	208	583	203	177	
151	Marc Coy	1058	6	bk206	21	2.0	6.0	232	586	206	176	
20 - Y ALL KEEP BITCHIN												
25	Chris Mannino	9483	51	185	40	40.0	44.0	246	637	190	185	
27	Dave Ferraro	4957	24	206	21	20.0	28.0	268	705	198	206	
28	Brandon Gaumond	13280	63	210	18	51.0	41.0	268	751	207	210	
103	Fabian MelendezJR	14359	63	227	2	55.5	40.5	289	793	223	227	
78	Fabian MendezSr	4003	21	190	36	14.0	14.0	223	629	195	190	
54	Dennis Getty	5812	27	215	13	22.5	13.5	266	706	204	215	
21 - I D TAP THAT												
111	Phil Belisle	13322	63	211	17	47.5	36.5	288	745	206	211	
2	Daryl Olszewski	13044	63	207	20	53.5	34.5	258	721	206	207	
129	Joe Cordova	12857	66	194	32	35.0	57.0	253	644	194	194	
48	Casey Collins	4680	21	222	7	14.0	14.0	262	716	224	222	
4	Rick LaChance	10708	51	209	18	36.0	36.0	269	719	205	209	
1	Brent Owenby	2436	12	203	24	8.0	8.0	290	683	205	203	
22 - MULLIGANS BAR AND GRILL												
157	Bill Watts	13307	69	192	34	49.0	43.0	254	673	185	192	
137	Tony Spenziero	13137	69	190	36	48.0	44.0	264	727	194	190	
89	George Crothers	13438	69	194	32	52.5	39.5	249	708	187	194	
230	Dave Davis	14222	72	197	29	44.0	52.0	279	706	—	197	
261	Kirk Oengler	562	3	bk206	21		4.0	196	562	—	187	
209	Tom Marangelli	1096	6	bk185	40	6.0	2.0	204	552	198	182	
23 - NUTTER GUTTERS												
234	Joe Patterson	9753	69	141	80	46.5	49.5	236	557	—	141	
233	Ethan Pare	11319	66	171	53	44.5	43.5	243	616	—	171	
232	Jason Dileo	11217	63	178	46	48.0	36.0	257	613	—	178	
231	Mike Brown	13068	72	181	44	50.0	46.0	275	678	169	181	
236	Harry Oehler	1688	9	187	38	4.0	8.0	215	592	—	187	
276	Gavin McCall	458	3	bk133	87	3.0	1.0	189	458	—	152	
24 - LIVIN ON A SPARE												
237	James Stuckey	11488	69	166	57	45.0	51.0	254	618	—	166	
238	Logan Causey	11345	63	180	45	29.0	63.0	245	615	—	180	
239	Woodward Caldwell	10468	69	151	71	41.5	50.5	212	558	—	151	
240	Lane Smith	10303	69	149	72	38.5	57.5	220	552	—	149	
258	Blake Baysden	630	3	bk214	14	3.0	1.0	237	630	—	210	
257	Avery Clemmons	599	3	bk196	30	1.0	3.0	246	599	—	199	
25 - MISFITS												
242	Anthony Cucinella	10848	69	157	65	48.0	44.0	255	610	—	157	
244	Dominick Margiotta	11007	59	194	32	42.0	38.0	246	659	—	186	✓
241	Joseph Kerr	12585	63	199	27	43.5	48.5	256	709	—	199	
243	Stan WardIII	13507	69	200	27	41.5	50.5	258	719	—	195	✓
259	Michael Duval	2569	15	171	53	4.0	16.0	232	560	—	171	
271	Benjamin Chesson	663	3	bk226	3	1.0	3.0	234	663	—	221	
26 - GUTTER DUSTERS												
249	Toby Kratzer	13434	72	191	35	40.0	56.0	255	631	201	186	✓
250	Tim Scully	12474	72	173	51	46.5	49.5	234	591	172	173	
96	John Holland	10900	57	191	35	43.0	49.0	288	677	192	191	
251	Clay Hill	11083	61	181	44	41.0	55.0	234	639	187	181	
267	Tom Scully	541	3	bk172	52	3.0	1.0	202	541	—	180	

Lane Assignments

		<u>1-2</u>	<u>3-4</u>	<u>5-6</u>	<u>7-8</u>	<u>9-10</u>	<u>11-12</u>	<u>13-14</u>
Wk25	02/17	14- 8	15- 7	16- 6	3-19	10-12	25-23	18- 4
Wk26	02/24	15-17	13-25	18-20	1- 5	3- 9	19-11	26-12
Wk27	03/03	5- 3	12-24	10-22	11- 7	13-23	1- 9	19-15
		<u>15-16</u>	<u>17-18</u>	<u>19-20</u>	<u>21-22</u>	<u>23-24</u>	<u>25-26</u>	
Wk25	02/17	21-11	5-17	22-24	2-20	1-26	13- 9	
Wk26	02/24	16-22	6- 7	10- 2	23-21	4- 8	24-14	
Wk27	03/03	14-18	21-20	17-25	16- 8	26- 6	2- 4	